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Degree (Part-IIT) Examination, 2023
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COMPUTER APPLICATION
[PPU-D-ITI(H)-BCA-5]
| Paper : Fifth |

(Progrmilming in Visual Basic and
Database Management System-I & IT)

Time : Three Hours| [Maximum Marks : 100

Note : Candidates are required to give their answer in their
own words as far as practicable. The questions are of

equal value. Answer any five questions. Question.no.
1 is compulsory.

1. Choose the correct answer from the following :
(1) Who developed Visual Basic?
(a) Symantec

(b)  Ashton-Tate
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(a)  Button control

(b) Close
(c) End
(d) Exit

Which of the following instruction tells the
computer to close the current form in VB?

(2)  This.close ()

(b)  Me.close ()

(c) Close.this ()

(d) Noneofthe above

What is the value of len in the following VB
code?

Dim Su_()AS S‘Iiﬂg: { HAH’ "B“, "C"1 "D"}
Dim len As Integer
len = str.Length ()

print "Length: " & len

(3)
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(ix)  Which of the following is a component of the.

(@ Daa

(b)  DataLanguages
(c)  DataManager
(d)  Allofthe above

(x)  What is information about data called?

(a) HyperData
(b)  TeraData
(c) MetaData
(d) Relations

2. . (a) Whatis VB IDE? Discuss all the componenis
of IDE.

(b) Explain '"Variant" datatype with suitable
example.

[PT.O)
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Note : Candidates are required to give their answers in their own
words as far as practicable. The questions are of equal

value. Answer any five questions. Question No. 1 1s

compulsory.

Note : Choose the correct answer of the following :

E (i) C++ provides inline functions to reduce

function call overhead mainly for :
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(a) Large functions
)  Small functions
(¢) Member function
(d) None ofthe above
(i) Constructor and destructor are automatically
invoked by :
(a) Compiler
(b) Operating system
(&)  Object
(d) None ofthe above
(ili) Which one of the following operators cannot
be overloaded ?
(a) 0 &
b) &
Ac) 7: )
(d) None ofthe above

(2)

400!



(iv) Dynamic binding is done using the __keyword.
(a) inline
Ab) virtual
(c) static
ally
(d) noneoftheabove
(v)  Whichone is the valid statement?
(a) int[]x=new int(6)
Ab) int[]x=newint [6]
(¢) intx[]=new x[6]
inot

(d) noneofthe above

(vi) Exception created by try block is caught i
aug 1n

which block?

(a)  Final

(b)  Throw
4008-06/126()
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(ix) This keyword in javais:

~A9) used to hold the reference of the current

object
(b)  holds object value
(c) usedto create new instance
(d) allofthe above
(x) The father of Alis:
(a) Charles Babbage
(b)  AlanTuring
¢j  JohnMcCarthy
(d) Noneofthe above

2. (a)  Discuss the main features of Object-Oriented
Programming (OOPs).

(b) Define the Reference Variable and its features
in C++,

[PTO]
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Note : Candidates are required to give their answers in their own

words as far as practicable. Answer three questions from

each group. Question No.1 and 6 are compuisory.

qOerelt JTEE o gl H 8 SuX &1 IUid P 3B
% & A ol T0H GE ¥ dN-dM S & SUX
AT U9 H.1 @ U9 9.6 el &

Group-A | §e-H
1. Select the correct answer of the following : [1x10=10]
Frfciiad & @8l faeca @ =ae it
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(1) Which of the following is considered the best

stupa”
(a) Arharavati

(b)  Bharhut

(&Y Sanchi
(d)  Sarnath
frrafafad & & 5 Td9 U A1 S e
(@) ST
)e « HEsd
(c) 9
(@) SfIRsA

(i) In which language were the earliest rock

inscriptions?
(a) Pali

(b) Sanskrit

L3

W

(d) Brahmi

7409-01/2230 (%)
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(i)

engraved on:

-/(a.)/ Stone plates

(b) Seals

(c) Pillars

(d)  Coins
it Ry o ST g R R I ST
q fopar T
(@) TR @ geedl W
() T W
() T™ W
(d) el W
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(iv)  How many years do the Vikram and Shaka years

differ by?
(a) 57 years
(b) 78 years

_/45%/135 years

(b) 78 W
(C) 135 ¥
(d) 3209

(V) Whose coins have Buddha engraved on them?
(a) Vim Kadaphises

(D) Kanishka

g

(C) Nahapana
— (" Buddhgupta
7409-01/2230 (4)

Scanned by TapScanner



= N Foud Rih W F GOl &7

(a) [\ weitpad
(b)  HIT=h
(C) BRI
d) &«

(vij  The tradition of child marriage began in':
(a) The Mauryan period
(b) The Kushana period
(c) The Gupta period
\(jd) _ Inthe Harshavardhana period

I A B T S TR
(a)
(b)

(€)

(d)
7409-01/2230 (35%) [P1.O.]
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(vii Who was the founder of Gupta dynasty?

(a) Srigupta
(b) Ramagupia

(c) Chandragupta

(d) Wpta

T @ e A
(@) AT

() T

() THIQ

@ I

(vii)  Where was the first Nuclear Power Station of the

world setup?
(a) Britain

(b) Germany

Msia

(d) USA

7409-01/2230 (i6a)
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) The headquarter of the European Union is situateq

in
Mussels

(b)  Helsink

(c) Paris

(d) Rome

A0 GY B G Jraferd &

@ oA

(b) M H

(c) URg H

(d 9 H

Note: Attempt any two questions from the following : [2x20=40)
Ffoied & & 6 & e & S v

Throw light on the main sources of Ancient Indian History.
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Write a note on Civil Disobedience movement.

qfaa Age STl O fewell fefaal

Write the causes of Quit India Movement.

R BIEl AR & FHO Rl

1

5 Write a geographical essay on major agricultural

Industries of Bihar.

RER & J9@ PN JErT T TH Arifers e el

Group-B / H¥e—

6. Select the correct answer of the following : [1x10=10]

Srfied & el [ H AT DIl

(i) 'Ampere’ is unit for measuring :

(c) Resistance

(d) Power

7409-01/2230 ' (9) [P.T.0.)
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(a)  alcedl

(b)  [Eg
(c)  Hfed
(d) e

(i1) The unit of power is :

(@)  Hertz

(b) Vot
_cggﬁf”ﬂg;&

(d) Newton

STk 1 |15 B :

(a) B

(b)  dke

(€)

(d)
7409-01/2230
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(iil) Unit of work is :

(@) — Sl

(b)  Newton
()  Watt

(d)  Dyne

P B TS ¢
@

(b) ~ ey

() die

(d) ST

(v)  When was Pokharan test conducted?

AT Tune, 1998

(b) 9 June, 1998

%y, 1998

(d) 29 May, 1998
7409-01/2230 ¢ ; [PT.O]
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(d) 297E,1998

(V) Which of the following is not a nuclear fuel?

/(:e;e/ Uranium
(b) Thorium
(c) Radium
(d) Helium
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(vi)  Which of the following Is the first nuclear plant in
India?

(a) Narora

(b)  Kalpakkam

\(/9) Tarapur

(d) Kota

WA | g W9 e # e B7
(@) U

(b)  HeT9FPH

(c) g}

(d) e

(viy  Who invented the steam engine?

(a) Robert Wattson
(b) James Watt

(c) William Harvey

Me of the above

7409-01/2230 1)
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(a)

(b)

(C)

(Q)

(vii)  Who invented the fountain pen?

Ja)/V\laterman

(b)  Parker
(c)  Chelpark

(d)  Schafer

PSS U9 & SAHRE B A7
(@) T

(b) X

(c)

(d)

7409-01/2230 (149

Scanned by TapScanner



(ix)  Which of the following is lighter than water?

(a) Aluminium

/Lb) Sodium
(C)

Magnesium

(d) Manganese

R & ¥ T i § & ol &7
(a)  UGHMIH
(b)  WeTH
(c) AT
(d)  FFS
(x)  Which of the following metals is liquid at normal
temperature?
(a) L ead
M Mercurqu
(c) Nickel
(d) Tin
7409-01/2230 (=15 [P.TO]
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115 A | T G (A E | 1

(@) W
(b) ' 9
© o
(d) A

Note: Answer any two questions from the following : [2x20=40]
Freaferferer o & @5l @ oot & S A
i/ What is bacteria? Discuss its types.

sfaro] @r 7 gad G H g o

8. Describe some important properties of living forms.
wolg & B Tq@ TN H goH i1

9. Give three examples each of conventional and non-

v

conventional sources of energy.

Folt # IO G I-TrITd At F ° I0E @
S s | e R R O [ 5

10.  What is a geo-satellite and how is it useful?

g-fer IurE #1 B R 98 fhw e arerdd

e s s Yt e
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